Trees Drills:

1. Insert the following integers into:

62 34 59 21 42 47 92 

21 22 50 83 23 39 32 

32 12 92 39 29 76 43

a. A binary search tree.

b. A 2 – 3 tree
c. A 2 – 4 tree
d. A Red – Black tree.
For each tree note its height, number of leaves, number of internal vertices.

Delete from each tree the entries 21 22 50 83 23 39 32.

2. What is the minimum number of items stored in each one of the four trees if the height of the tree is:



a. 5

b. 20


c. n

3. You are given a balancing scale and n coins. Exactly one of the coins is fake, it is either lighter or heavier than the other coins. What is the smallest number of weighings needed to identify the fake coin and whether it is light or heavy.


a.  n = 35

b. n = 375

c. n = 40

d. n
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